[ Efficiency vs vertpos |

0.8
0.75

0.6F

etticiency vs vert r

0.5F
0.4f
0.3
0.2
0.1

0

Ratio

©

——

1 10 0?
TP vertr (cr%)

Efficiend

—=— DQM_mKFit_TT_base_noSel
—e— DQM_mKFit_TT_base_8iter_noSel
—— DQM_mKFit_TT_retrainOldFiles_v2_8iter2_noSel

0.8

efticiency vs vert z

...................

Ratio

=l

10 20 30

-20 -10

TP vert z (cm)

[ Efficiency vs. sim PV z |

0.8

0.7
0.6

0.5

efficiency vs Sim. PV z

0.4

0.3
0.2F

0.1+

* ..... A 0 B
: ' g :.M + . *

Ratio

0.95,

Wl

B 2k

=20

_15 _

15 20
Slm PV z (cm)




	Contents
	Page 1


